| can use the distributive property to simplify expressions.

Review:
1.) Fill in the blank(s). 2.) Fill in the blank(s).
3(x+7)= DX + | H (-3x+6)=-12x + 24

Distribute to Simplify

Step 1: Getrid of __ DO (NthASIS firstby _ QLiStoibutin e

Step 2: Identify __ Lilkt, terons

Step 3: Combineto __S1MN O Lt Fb{

Simplify the following expressions.

1.) 3(b+9)+10 2.) -(a-9)+7-3a
3b+d7+10 -otg+7 - 3a
Her37) Yot

3.) 0.2(c+8)+4.5c+7.3 4) %y o, 5 -;-(y +8)
Oac+ |.Lb+4Sc+0.3

S/qu'p) + '/93+ o
H7c + 8.9 v 5
4y -

Test Examples:

1.) What is the value of c when the expression 21.2x + c is equivalent to 5.3(4x — 2.6)?

&= 7 [8,7F

2.) What is the value of b when the expression 27x + b is equivalent to 3(9x — 3.5)?

bz 0.5



Distributing Negative

1) (4a+5)-(3a+10) 2)) (2b+6)-(9b-5)
Yot 5= 20 - 10 A+ -9+ 5
o-5 -To+ 1]

| can find the area and perimeter of shapes by simplifying expressions.

1.) Find the perimeter. 2.) Find the perimeter. Q o+l
a+3
5 S
R 5 o+3
, S +
Find the area. SoRiS

S5(ot3)



